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Answers

1.
148⁄195

2.
12⁄15= 

4⁄5

3. 1
0
⁄4= 1

4. 2
8⁄34= 2

4⁄17

5. 3
21⁄40

6.
68⁄74= 

34⁄37

7. 1
46⁄104= 1

23⁄52

8. 2
2⁄5

9. 1
2⁄100= 1

1⁄50

10. 1
34⁄44= 1

17⁄22

11.
28⁄36= 

7⁄9

12.
116⁄175

Solve each problem.

1)
7

2
5

÷
39
4

=
148
195

37
5

×
4
39

=
148
195

2) 3
5

÷
3
4

=
12
15

3
5

×
4
3

=
12
15

3) 2
4

÷
1
2

=
4
4

2
4

×
2
1

=
4
4

4) 19
2

÷
17
4

=
76
34

19
2

×
4
17

=
76
34

5)
9

2
5

÷
8
3

=
141
40

47
5

×
3
8

=
141
40

6)
8

1
2

÷
37
4

=
68
74

17
2

×
4

37
=

68
74

7)
7

2
4

÷ 5
1
5

=
150
104

30
4

×
5
26

=
150
104

8) 4
5

÷
1
3

=
12
5

4
5

×
3
1

=
12
5

9) 34
4

÷ 8
1
3

=
102
100

34
4

×
3

25
=

102
100

10)
6

2
4

÷ 3
2
3

=
78
44

26
4

×
3
11

=
78
44

11) 14
4

÷ 4
1
2

=
28
36

14
4

×
2
9

=
28
36

12) 29
5

÷
35
4

=
116
175

29
5

×
4

35
=

116
175
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